> A
A & 0l & AF 2 E A A
20138 =& 2 3 et MA
A= JEAME A 2N s
Y RS (S29)
el URAdKES(SE] 22 Ng2eSHEESZ) (Sl & &)
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-E" HlnE2
JIEbALR & 8,015,372 7,978,372 37,000
£ 300,000 300,000 0
Al 7,665,372 7,678,372 A 13,000
S Al 50,000 0 50,000
s=2 3,558,348 3,571,348 A 13,000
Hees(ssd) 180,527 193,527 A 13,000
UEAHAXE(SSE 22 ANg2esHEEZ) 180,527 193,527 A 13,000
s=2 28 ANg2e3sH A== 180,527 193,527 A 13,000
404 SIS =dES 24,250 37,250 A 13,000
02 SAt- SHIUHEEES 24,250 37,250 A 13,000
Os=d 29 A4 2 N=2dE=S 24,250 37,250 A 13,000
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N = 0l & At & Ml A

JIEFALE & PN E=20ISAIE A
BSOS RE JIBRE
St=20ts BaAE2Y (&)
CRAN - ZH - E(BH) - HRANY - BES 0l &F 24 p/E-E" HlnE2
SAE A 2,560,930 2,510,930 50,000
£ 300,000 300,000 0
Al 2,210,930 2,210,930 0
S Al 50,000 0 50,000
SIROISEE D2 H 2,140,080 2,090,080 50,000
£ 300,000 300,000 0
Al 1,790,080 1,790,080 0
S Al 50,000 0 50,000
S0ts 2SNE2Y 1,704,780 1,654,780 50,000
Al 1,654,780 1,654,780 0
S Al 50,000 0 50,000
HEESHASH 29 310,000 260,000 50,000
Al 260,000 260,000 0
S Al 50,000 0 50,000
401 AIEHI L 201 50,000 0 50,000
S A 50,000 0 50,000
01 A& HI 50,000 0 50,000
ONS2eA+2 ANEBLAI (HASLEHAS
) 50,000 0 50,000
S Al 50,000 0 50,000
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